AP Projectile Review
Ignore air resistance

Q) (MC). An object is launched with an initial velocity of 25 m/s @ 30 degrees above
the hotizontal: I lands some time later at the same level that it was launched.
Ignoring air resistance, the velocity as it hits the ground is
(A) the same as when it was launched
(B) smaller in magnitude than when 1t was launched
{C) larger in magnitude than when it was launched
(D) has the same magnitude but a different direction
(E) has a different magnitude but the same direction

A quarterback throws a ball te a receiver down field. The initial velocity of the bali is
15 m/s at an angle of 25 degrees. If the quarter back releases the ball 1.5 meters
above the ground, and the receiver catches it 2.7 meters above the ground, how long
was the ball in the air and how far down field was the receiver?
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3. You fire a potato cannon perfectly horizontal. Once the potato leaves the “barrel” of
the potato gun, what does it do?

A body is projected at 40° form the horizontal (upward) with an initial velocity of 32
m/s.

(A) What is the object’s velocity at the peak of the path?

(B) What is the final velocity of the object as it hits the level ground?

- (C) At what time does the object have a height of 4 meters?

Fa

5. Arocket is fired straight into the air with a velocity of 15 m/s.
"~ (A)What is the acceleration of the ball 2 seconds after release?
{B) What is the maximum height of the ball?

(C) How long is the ball in the air?

Stunt man Sam decides to sftempt a hurpan cannon ball trick. He attempts to be fired
with an initial velocity of 26.5 m/s at an angle of 53° with the horizontal over 3 Ferris
wheels (as shown in the picture). Does Sam clear the Ferris wheels? How do you
know? Where would you place the net so Sam can land safely (assuming he clears
the ferris wheels)? If he doesn’t clear the ferris wheels, what angle would he need to

/e

be launched so he did? Each Ferris wheel is 18 meters tail.
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